Factors September 19, 2012

Algebra 1.3
Factors

Homework 19 September 2012

Do all odd nhumbered questions in Exercise 1.3

Using the highest common factor, factorise each of the following:

1. 5x% — 10x 2. 6ab — 12bc 3. 3x% —6xy

4. 2x%y — 6x’z 5. 2a®—4a® + Ra 6. Sxy? — 20x%y

7. 2a’h — d4ab® + 12abc 8. 3x%y — 9xy? + 15xyz 9. 4m? + 67rh
HCF Method
® 5Sk(x-2) @ 2ab(a-2b+be)

©) 3x(x-z?)

® 2mr (2r +34)
® 2a(d-2a+4)
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GROUPING METHOD

@™ x{,\ax +3Qa
X(x=-0) +3(x-4)
=(x-a) x +3)

@ 8ok + by - blok-3by
4a(2x+y) ~3b (2x+y)
(a3 )(2x+y)
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® me Exz —y"

3y(2x-34)F b2 (341 2x)
(34-b2)2x-3)

B guxt- 5y '+ b0y

3a(x*-y) - b (x*- )

(3a-4b)(X F=Y) T e
(2 -4b)(x+ 4){:(-7 )

Using the difference of two squares, factorise the following:

18. @ — B 19, % —4y?

21, 16x2 — 25y? 22, 36x* - 25

24. 492> — 4b> 25 a1

27, 32— 27y 28. 45 — 5x2

30. (2x+yP -4 31 (Ba—2bR -9

® (=29 (x +24)
@ (‘I-X-S'a)(‘l'x-l-&,.)
® (1-0l'+)

@ s(x*-147)
= 3(x-3y)x+3y)

20. 9x% —y?

23. 1 —36x?
26. 4a’b? — 16¢?
29, 454 - 20
32. a* - b

@ (xy-1 Xeg+) @ 5(1a*-9)

= 5(3a-2)(3a+2)

©)
(3a-20 -3)(3a-2k+3)
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33, 24+ 9x + 14
(x+3FYx+2)

35. 2+ 11x+ 14

(x s TLx2)

™

37 x?—11x +28
(x —% Yx =)

43. 12x* - 11x -5

- ISx

(o 8 21)

45. 3x?+ 13x — 10

(3)\-2-)LX+5)
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39, 3x2—-17x+ 20
—12x%

(=)

—Sh
41. 2x*—7x - 15

3%
(225 X>5)

fAacrous of 12x* FAcoes oF =S

Q2xXx) (1 X-5)
(6x )(2x) (-1Xs)
#x X 2X)~
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47 36x>—Tx —4

9x
/“\

-4 X4
(B4 )X )

- lbx

49. 6y? + 11y — 35
214

(31 - 524 +3)
U
__l°'a.

Fcons o
3bx™
(3ex)(»)
(1%¥)(2+)
(22 )(3%)
(Y x)~
(ex)(6x)

tacros o Ly

(byXy)
GyX2y)
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FALTOLS of
. 1

()
@l-2)
(D O

frenas of =35

(3s)-1)
A5
CX-3)
CtYX-35)
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51. Using the quadratic formula, factorise each of the following:

(i) x*+3/3x+6

x= -kt [P tac = -5 X (3B)*-40X6)

2a 20
= 3R t[2a-24 - -35:325
= o 2
b=303 P = _1? e -2§3 These o 5 FAcmls ARE
c=b Hoe (X+28) (X +33)
A = 2% = § Sokcons
= (ok 4eets)

52. Using both the sum and the difference of two cubes, factorise the following:

(i) @+’ B+ = (x+ )2 —xy + )

= (a+b)(at-ak+b?)
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52. Using both the sum and the difference of two cubes, factorise the following:

(i) a®— b 2=y =x-yE+xy+y?)

= (a-b)(a" +ab+b*)

52. Using both the sum and the difference of two cubes, factorise the following:

(iii) 8x* + y? By =(x+y)x*—xy +y?)

= (Qx+y)( 4x- Ly +y?)
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B=y=x-E*+xy+y)

53. (i) 27x3 — 3 (i) x° — 64 (iii) 8¢ —27y?
iy = (3x- 31%‘"#-3:(; + 3‘)
G) 7 (X=4)XxT+4x+le)
Gi) = ‘1"‘33’( Gx*+ éxy + 1;‘)
B4y = (x + y)(x* — xy + y?) 2=y =x-y)at+xy+y)
54. (i) 8+ 2743 (ii) 64 —12543 (iii) 27a° + 64b3

D= (2+3k) 4 ~Lhk+9k)

@) = (4 -5a) (b + 204 +254%)

@) = (Ra+4bY Ga*—12aL + lbb*)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

